DISGUISED QUADRATIC EQUATIONS

1 Solve each of these equations for x.

a)x4—l3x2+36=0 b)x4_2x2__3:0 c)x6—28_)(:'3+21=0
d) X6+ 5x3—24=0 e) x—5/x+6=0 f) x8—6x/3_+157—40
g) x*+x*=12 h) x =4y/x—3 ) x t161_6 'is
i) x8 =842 k) 8y/x =15+x ) 65x" = 16+ 4x

2 Solve each of these equations for x.

8 19—
ar1=2 b) X' +7=— ¢) x =12v/x =35
x2 X
' x4 S Vit L =T pR43=0
d) x —6x+—=0 e) VX+—F—== . 32
) : v; -
D=
g) x*(x*—20)+64=0 h) 15=x(8 —/X) ')_x_Z— oy
i) 2(¢* +6) = 1122 w2+ 2o y x =200 +8
3 Solve (x+3)? - 5(x+3)+4=0.
4 Solve 3x -1’ +6(3x—1)—7=0.
5 a) Solve y> — Ty + 10 =0.
b) Hence find the solutions to (x2 4+ 1)> = 7(x?> + 1) + 10 = 0.
6 a) Solve y> — 5y — 14 =0. .
b) Hence find the solutions to (x* — 1)> = 5(x* = 1) = 14 = 0.
7 Solve x(x + 1) + A __ 14.
x(x+1)
"8 a) By using the substitution p = x + =, show that the equation
X
2+ —6x2 +x+2=0
reduces to 2p? + p — 10 = 0.
b) chce solve 2x* + x3 — 62 4 x 49 — 0.
9Sahve for 1
TA-GRNAR0 b 4727 2=0 ¢ 95 —12:37) 427 =0

4 W =340 e 257 ~23(5%)-50=0 f 497 ~1=277



